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[ <1DOCTYPE HTML>
<html>

<head:>
<meta charset="utf-8">
<titl o
s
<ftide> [
<link rel= "stylesheet” href="style.css" type="text/css">
cscript>
function 0O{ K
var [[Te) = document.getElementById(" [E1) ").checked;
var [[E&) = document.getElementById(' (=3 );
var [IFED = 2
i (D D @) {
I — (IR - € ;

}

.innerHTML = ([ffEERD + EED ;

1
<fscript>
</head>
<body>

| <img src=" (T2 ">
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<form> |

<input type="checkbox" id=" e

<input type="button" value="Gi-] " ondick=" I3 ()">
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\-4 /body> :

</html>

<IDOCTYPE HTML>
<html>
<head>
<meta charset="utf-8">
<title>
BERmR—
</title>
<link rel="stylesheet” href="style.css” type="text/css”>
<{script>
function calc() {
var kupon = document.getElementByld('ch’).checked:;
var kekka = document.getElementByld('res’);
var kingaku = 4000;
if (kupon == true ) {
kingaku = kingaku — 500;
}
kekka.innerHTML = kingaku + “F";
}
<{/script>
<{/head>
<body>
<img src="top,jpg">
<h1>
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</ht>
<h2>
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</h2>
<form>
<input type="checkbox” id="ch”>
500 M5|=
<input type="button” value="§tE" onclick="calc()">
</form>
<p id="res”>
</p>
</body>
</html>
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<|DOCTYPE HTML>
<html>
<head>

<meta charset="utf-8">

<title>

L_ W51 )
| <ftitle>
<link rel="stylesheet" href="style.css" type="text/css">
<script>
function 3 () {
var [ZIEE8 = Number(document.getElementByld(' EREN ').value);
var [EEE = Number({document.getElementById(" Bl ').value);
var [[E%%) = document.getElementById(' (23 ");
if ( == DA
\_'u; .innerHTML = IEIE
|2
else {
GRS .innerHTML =
l %) .inner
|}
1§ kotae2 lf == ~ J{ 201 BEY
M) innerHTML +=
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i‘u: .innerHTML +=
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</head>
| <body>
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I <form>
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tmt type="button" value=" EZF3 " ondlick=" 0>
<fform>

[ <dvid="( ">

c}cﬁv:»

\:/bodw

< /html>

<'DOCTYPE HTML>

<html>
<head>
<meta charset="utf-8">
<title>
21X
</title>
<link rel="stylesheet” href="style.css” type="text/css”>
<script>
function che() {
var kotae1 = Number(document.getElementByld('ans1’).value);
var kotae2 = Number(document.getElementByld('ans2’).value);
var kekka = document.getElementByld('res’);
if (kotael == 1989 ) {
kekka.innerHTML = "1 f§| B : IEfi";
1
else {
kekka.innerHTML = "1 i1 H : BZ&";
1
if (kotae2 == 2019 ) {
kekka.innerHTML += “-2 [ B : IEf2";
1
else {
kekka.innerHTML += "=2 ff1B : 5% =",
1
1
<{/script>
</head>
<body>
<ht>
TEIA4X
</h1>
<h2>
2BDVARIZEZELLS
</h2>
<img src="top.png™>
<p>
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</p>
<p>
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</p>
<form>
18
<input type="number” id="ans1”>
2fiE:
<input type="number” id="ans2"”>
<input type="button” value="#|%E" onclick="che()">
</form>
<div id="res”>
</div>
</body>

</html>
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[ <1DOCTYPE HTML>

<html>
<head>

<meta charset="utf-8">

<title> ErT T EY
LA BT 300kE]
</ftite> D
<link rel="stylesheet" href="style.css" type="text/css">
function £ () {
var B = document.getElementById(" (k) 1).value;
' var E7%) = document.getElementById(' (23 ');
e “ryouri I ETR
(e = 2z ) <
&m = i
} :
| else if (G0 CEED @ ) { |
G - :

} i
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</script>
</head>
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</p>
\:/body}

</html=

<IDOCTYPE HTML>
<html>
<head>
<meta charset="utf-8">
<title>
BIIHDOHE
</title>
<link rel="stylesheet” href="style.css” type="text/css”>
<{script>
function bt() {
var syoku = document.getElementByld('food’).value;
var kekka = document.getElementByld('res”;
var ryouri;
if (syoku == "V &7" ) {
ryouri = “IREFAFHF IR
}
else if (syoku == "H2<T" ) {
ryouri = "G HEE";
}
else if (syoku == "HARF+¥" ) {
ryouri = “E¥";
}
else |
ryouri = " KZAE";
}
kekka.innerHTML = "5 3 HDFIRIL” + ryouri + “TY;
1
<{/script>
</head>
<body>
<h1>
BMEBERLTZS
</h1>
<img src="top.png”>
<form>
<select id="food”>
<option value="<YA47 ">
VBT
</option>
<option value="H><">
4
</option>
<option value="hRF+">
HRFx
</option>
<option value="4Y<I A E">
HUTALE
</option>
<{/select>
<input type="button” value="1%{E" onclick="bt()">
</form>
<p id="res”>
</p>
</body>
</html>
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<IDOCTYPE HTML>
<html>

<head>
<meta charset="utf-8">

</ftitle>
[ <fink rel="stylesheet” href="style.css" type="text/css">
<§cript>
function ED () {
VCld hairetu Bl " —"M "S>V >" ")l " BH
var [[E61) = Number(document.getElementByld(' [ERS ').value);
var [[EZE) = document.getElementById(' (23 °);
if ( 1 DES
EE .innerHTML = BTEEEISIN ;
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else if ( (=M 3 DR
(ED) .innerHTML = EEENEININ ;
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NLGas i Y "IFEF | " + hairetu[kaitou - 1] +
¥
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</script>
</head>
<body>
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<fform>
<p id=" ({3

</p>
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</html>
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<DOCTYPE HTML>

<html>
<head>
<meta charset="utf-8">
<{title>
BEBIARR=D
</title>
<link rel="stylesheet” href="style.css” type="text/css”>
<{script>

function ch() {
var hairetu = ["HyHh—", "TSVY2", "TILIT"];
var kaitou = Number(document.getElementByld('ans’).value);
var kekka = document.getElementByld('res’);
if (kaitou < 1) {
kekka.innerHTML = “1 KL EH# A 717,
1
else if (kaitou > 3 ) {
kekka.innerHTML = "3 LIFZA N,
1
else if (kaitou == 2 ) {
kekka.innerHTML = “IEfi2 ! ” + hairetu[kaitou — 1] + " T¥";
1
else {
kekka.innerHTML = hairetu[kaitou — 1] + " (IR IEETT";

1
<{/script>
<{/head>
<body>
<h1>
R—ILEELLENRR—YEEND, ?
</h1>
<h2>
ESEANLTEATR!
</h2>
<img src="topjpg™>
<form>
<input type="number” id="ans">
<input type="button” value="[B1%" onclick="ch()">
</form>
<p id="res™>
</p>
</body>
</html>




